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GXJE i) 7 by =M E)5 ¢ 250 2 2 e
PE ¢ 250 ¢ 75 ¢ 50
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45°
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H=300
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45 $ 250 23 23 e
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P
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DGX ¢ 250 FHFH(AER)

e g ]
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[ - X Bl
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TR T 6500 4 4 5]
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Sy KRR T $ 250 X ¢ 50 2 2 &0
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6250 6100 ¢ 75 ¢ 50
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RIT T
BE R FEK Y
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+ T % & %

+TAa47° 1-1 HiiE As DCIP(GX) ¢ 250 DP=0.90m
+ TR L= 2796 +6.6 = 2862 m
W P>
BEE%As t=4cm EH | BRE RIEIR BAEZFHIAs t=3cm
E— —t
3 N v S
i BRAET I
| RC-40 S
|
i A
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= £ e IR 1ERM — DP_ | 140 | 0.900
g AL < H1 |l 1172
i H2 | #RAE| 1.122
BB hl [#REF] 0.250
iz—t V h |#® &] 0572
I o
i S
| —
1 a| <
—
i Ov 4
!
\L
( 286.2 m H7=hiE)
4 g iR NI MR g = =V B % &
SR T As, t=15cmLL F 2.00 X 286.2 m | 572.4
A f Fi e T As, t=10cmPL F 0.65 X 286.2 m?| 186.0
O T Bk YR 0.65 X 1.122 X 286.2 m’| 208.7
HOREL T RC-40 0.65 X 0.250 X 286.2 m® 46.5
MY RELL WAL
M RELTL i ( 0.65 X 0572 — 02722 X x,/4)X 286.2 |m® 89.8
WEER R R
74y WE 1t 208.70 — 0.00 + 0.9 m®| 208.7
FRU e As 0.65 X 0.05 X 286.2 m® 9.3
TS B As m® 9.3
TG URIENE - 25> T 0.023 X 0.05 X 572.4 m® 0.66
A T RC-40, t=16cm 0.65 X 286.2 m?| 186.0
AR AS(13)
RAEIH T HiE t=3cm 0.65 X 286.2 m?| 186.0




+ T % & %

+TAa47° 1-2 HiiE As DCIP(GX) ¢ 250 DP=1.20m
+ TIER L= 2.9 = 2.9 m
W P>
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- —t
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!
i
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
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g AL < H1 |l 1.472
i H2 | #RAE| 1.422
BB hl [#REF] 0.550
iv—k h [# & [ 0.572
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i Ov
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( 2.9 m %7v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 29 m 5.8
A f Fi e T As, t=10cmPL F 0.65 X 29 m? 1.9
o T Hetk WHE A+ 0.65 X 1.422 X 2.9 m® 2.7
HHEL T RC-40 0.65 X 0550 X 2.9 m® 1.0
MY RELL i
HHRELT W ( 0.65 X 0572 — 02722 X xn,/4)X 29 m® 0.9
WEER R R
B sy e+ 2.70 — 0.00 + 0.9 m® 2.7
FRU e As 0.65 X 0.05 X 29 m® 0.1
S E As m® 0.1
TG URIENE - 25> T 0.023 X 0.05 X 5.8 m® 0.01
B T RC-40, t=16cm 0.65 X 2.9 m? 1.9
AR AS(13)
FEIRT HIiE t=3cm 0.65 X 29 m? 1.9




+ T % & %

+TAa47° 1-3 HiiE As DCIP(GX) ¢ 100 DP=0.90m
+ TR L= 0.6 = 0.6 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
3 N % S
i BRAET
| RC-40 S
!
i
i W | #EEIfE[  0.600
a i DI [&4ME[ 0.118
= £ e IR 1ERM — DP_ | 140 | 0.900
g AL < H1 | EEE] 1.018
i H2 | #EAIE|  0.968
BB hl [#REF] 0.250
iv—k h [® & 0.418
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| —
| 5| =
—
i Ov
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( 0.6 m %7=v¥E)
4 g ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 0.6 m 1.2
A f Fi e T As, t=10cmPL F 0.60 X 0.6 m? 0.4
o T Hetk WHE A+ 0.60 X 0.968 X 0.6 m® 0.3
HHEL T RC-40 0.60 X 0250 X 0.6 m® 0.1
MY RELL WAL
HHRELT w ( 0.60 X 0418 — 0.118 2 X x,/4)X 0.6 m® 0.1
WEER R R
B sy e+ 0.30 — 0.00 -+ 0.9 m® 0.3
FRULALER As 0.60 X 0.05 X 0.6 m® 0.02
PRy 2 As m® 0.02
TG URIENE - 25> T 0.023 X 0.05 X 1.2 m’| 0.001
B T RC-40, t=16cm 0.60 X 0.6 m? 0.4
AR AS(13)
FEIRT HIiE t=3cm 0.60 X 0.6 m? 0.4




+ T % & %

+TAa47° 1-4 HiiE As HPPE ¢ 75 DP=0.90m
+ TR L= 5.3 = 5.3 m
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i S
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—
o
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( 5.3 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 5.3 m 10.6
A f Fi e T As, t=10cmPL F 0.60 X 5.3 m? 3.2
WoH T Hetk WHE A+ 0.60 X 1.040 X 5.3 m® 3.3
HHEL T RC-40 0.60 X 0250 X 5.3 m® 0.8
MY RELL WAL
HHRELT w ( 0.60 X 0.490 — 0.090 2 X x,/4)X 5.3 m® 1.5
WEER R R
7 sy WHE 1+ 3.30 — 0.00 <+ 0.9 m® 3.3
FRU e As 0.60 X 0.05 X 5.3 m® 0.2
S E As m® 0.2
TG URIENE - 25> T 0.023 X 0.05 X 10.6 m® 0.01
B T RC-40, t=16cm 0.60 X 5.3 m? 3.2
AR AS(13)
FEIRT HIiE t=3cm 0.60 X 5.3 m? 3.2
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+ T % & %

+TAa47° 1-5 HiiE As PP ¢ 50 DP=0.90m
+ TR = 1.0 +1.0 = 2.0 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
3 N % S
i BRAET I
| RC-40 S
|
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= 2 ° IR 1ERM — DP_ | 140 | 0.900
g AL < H1 | EEIE] 1.060
i H2 | #EAIE| 1.010
BB hl | HEEA| 0.250
iz—t V h [ # & 0.460
I o
i S
Bl —
1 ok
—
o
i Sy oy
!
\ ¢D
( 2.0 m %7=v¥E)
4 g ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 2.0 m 4.0
A f Fi e T As, t=10cmPL F 0.60 X 2.0 m? 1.2
WoH T Hetk WHE A+ 0.60 X 1.010 X 2.0 m® 1.2
HHEL T RC-40 0.60 X 0250 X 2.0 m® 0.3
MY RELL WAL
HHRELT w ( 0.60 X 0.460 — 0.060 2 X x,/4)X 2.0 m® 0.5
WEER R R
7 sy e+ 1.20 — 0.00 = 0.9 m® 1.2
FRULALER As 0.60 X 0.05 X 2.0 m® 0.06
PRy 2 As m® 0.06
TG URIENE - 25> T 0.023 X 0.05 X 4.0 m® 0.01
B T RC-40, t=16cm 0.60 X 2.0 m? 1.2
AR AS(13)
FEIRT HIiE t=3cm 0.60 X 2.0 m? 1.2
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+ T % & %

+TAa47° 2-1 HEAE As DCIP(GX) ¢ 250 DP=0.90m
+ TR L= 9.7 +77.3 +27.0 +62.0 = 176.0 m
(8.8+6. 2+21. 0+17. 6+5. 2+3. 2)
W P>
BEE%As t=4cm EH | BRE RIEIR BAEZFHIAs t=3cm
- —t
S N v S
i BRAET I
| RC-40 8
!
i A
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= £ e IR 1ERM — DP_ | 140 | 0.900
g AL < H1 |l 1172
i H2 | #RATE| 1.142
HLES hl [HMRF) 0.470
iz—t V h |#® &] 0572
I o
i S
| —
| 5| =
—
i Ov 4
!
\ @D
( 176.0 m H7-0%E)
4 g ViR N MR g = =V B % &
SR T As, t=15cmLL F 2.00 X 176.0 m | 352.0
A f Fi e T As, t=10cmPL F 0.65 X 176.0 m?| 114.4
O T Bk YR 0.65 X 1.142 X 176.0 m®| 130.6
HOREL T RC-40 0.65 X 0.470 X 176.0 m® 53.8
MY RELL WAL
M RELTL i ( 0.65 X 0572 — 02722 X x,/4)X 176.0 |m® 55.2
WEER R R
74y WE 1t 130.60 — 0.00 =+ 0.9 m’| 130.6
FRULALER As 0.65 X 0.03 X 176.0 m® 3.4
TS B As m® 3.4
TG URIENE - 25> T 0.023 X 0.03 X 352.0 m® 0.24
A T RC-40, t=10cm 0.65 X 176.0 m?| 114.4
AR AS(13)
RAEIH T HHE t=3cm 0.65 X 176.0 m?| 114.4
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+ T % & %

+Ta47° 2-2 TEAECKTEA) As DCIP(GX) ¢ 250 DP=0.90m
+ TR L= 145 = 145 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
o
=] Y v S
i BRAET I
| RC-40 3
!
i A
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= 2 ° IR 1ERM — DP_ | 140 | 0.900
g AL < H1 |l 1172
i H2 | #EAE| 1.072
BB hl [#RE#] 0.120
iz—F V h [w & 0572
I o
i S
Bl —
| 5| =
—
i Ov 4
!
\ @D
( 14.5 m %7=v¥E)
4 b iR NI MR g B =V B % &
ERAL T T As, t=15cmPA T 2.00 X 14,5 m 29.0
A f Fi e T As, t=10cmPL F 0.65 X 14.5 m? 9.4
O T etk AV 1 0.65 X 1.072 X 14.5 m’ 10.1
HOREL T RC-40 0.65 X 0.120 X 145 m® 1.1
MY RELL i
HHRELT W ( 0.65 X 0572 — 0272 2 X x,/4)X 14.5 m® 4.5
WEER R R
B sy e+ 10.10 — 0.00 = 0.9 m® 10.1
FRU e As 0.65 X 0.10 X 14.5 m® 0.9
TS B As m® 0.9
TG URIENE - 25> T 0.023 X 0.10 X 29.0 m® 0.07
B T RC-40, t=45cm 0.65 X 145 m? 9.4
AR AS(13)
RAE IR T B t=3cm 0.65 X 14.5 m? 9.4

13




+ T % & %

+ 1447 2-3 TEAEGEN) As DCIP(GX) ¢ 250 DP=0.90m
+ TR = 11.1 +5.6 +3.3 +6.7 +3.7 = 35.0 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
E— —t
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= 2 ° IR 1ERM — DP_ | 140 | 0.900
g AL < H1 |l 1172
i H2 | #RAE| 1.132
BB hl [#RE#] 0.410
iz—F V h [w & 0572
I o
i S
Bl —
| 5| =
—
i Ov 4
!
\L
35.0 m H47=0%E)
4 i ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 35.0 m 70.0
A f Fi e T As, t=10cmPL F 0.65 X 35.0 m? 22.8
O T etk AV 1 0.65 X 1.132 X 35.0 m’ 25.8
HHEL T RC-40 0.65 X 0.410 X 35.0 m® 9.3
MY RELL WAL
M RELTL i ( 0.65 X 0572 — 02722 X x,/4)X 350 m’ 11.0
WEER R R
B sy e+ 2580 — 0.00 + 0.9 m® 25.8
FRULALER As 0.65 X 0.04 X 35.0 m® 0.9
TS B As m® 0.9
TG URIENE - 25> T 0.023 X 0.04 X 70.0 m® 0.06
B T RC-40, t=16cm 0.65 X 35.0 m? 22.8
AR AS(13)
RAEIH T HHE t=3cm 0.65 X 35.0 m? 22.8
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